
PACK P/M

1 Handle (w/Bolts) 拉手带螺丝 H633-27 R47330 Metal 3 G P

2 Side Drawer H633-27 R47331 Wood 2 D M

2 Side Drawer (Vendors EO+MT) H633-27 R59109 Wood 2 D M

3 Middle Drawer H633-27 R47332 Wood 1 D M

3 Middle Drawer (Vendors EO+MT) H633-27 R59110 Wood 1 D M

4 Glide(M+F)(45mmWx305mmL)(w/Screws) H633-27 R47333 Metal 3 K P

4 Glide(M+F)(45mmWx305mmL)(w/Screws)(Vendor MT) H633-27 R71158 Metal 3 K P

5 Left Leg Assembly  左腿框 H633-27 R47334 Metal 1 K M

5 Left Leg Assembly (Vendors EO+MT) OLD 左腿框 H633-27 R59112 Metal 1 K M

5 Left Leg Assembly (Vendors EO+MT) NEW 左腿框 H633-27 R69473 Metal 1 K M

6 Right Leg Assembly 右腿框 H633-27 R47335 Metal 1 K M

6 Right Leg Assembly (Vendors EO+MT) OLD 右腿框 H633-27 R59113 Metal 1 K M

6 Right Leg Assembly (Vendors EO+MT) NEW 右腿框 H633-27 R69474 Metal 1 K M

7 Stretcher 叉形连杆 H633-27 R47336 Metal 1 K M

7 Stretcher (Vendors EO+MT) NEW 叉形连杆 H633-27 R69475 Metal 2 K M

8 Adjustable Leveler 调整脚垫 H633-27 R43409 Metal 4 G P

8 Adjustable Leveler (Vendors EO+MT) 调整脚垫 H633-27 R59114 Metal 4 G P

9 Insert (1/4in x 12mm) 内外牙 H633-27 R38205 Metal 4 G P

9 Insert (1/4in x 12mm)(Vendors EO+MT) 内外牙 H633-27 R59115 Metal 8 G P

10 Hardware Pack 五金包 H633-27 R47337

1/4 inx35mm Allen Bolt (4)

1/4 inx16mm Allen Bolt (6)

1/4 in Flat Washer (10)

1/4 in Lock Washer (10)

4mm Allen Wrench (1)

1 G P

10 Hardware Pack (Vendors EO+MT) OLD 五金包 H633-27 R59116

1/4 inx35mm Allen Bolt (4)

1/4inx16mm Allen Bolt (6)

1/4 in Flat Washer (10)

1/4 in Lock Washer (10)

4mm Allen Wrench (1)

1 G P

10 Hardware Pack (Vendors EO+MT) NEW 五金包 H633-27 R69476

1/4 inx35mm Allen Bolt (10)

1/4 in Flat Washer (10)

1/4 in Lock Washer (10)

4mm Allen Wrench (1)

1 G P

REPLACEMENT PART DESCRIPTION FORM

MRP#

MODEL #: H633-27
FACTORY USE ONLY!!

PART# DESCRIPTION USED ON: MATERIAL QTY.

NOTE: Part #s 2,3,5,6,8,9,10 for Vendors EO+MT ONLY and serial numbers begin with 63214 or 68902

          Part #4 NEW for Vendor MT ONLY and effective starting serial#: 632140038229

         Part #s 5,6,7,10 NEW for Vendors EO+MT ONLY and effective starting serial#s: 632140031418 or 689020281006

SIGNATURE DESIGN BY ASHLEY® All Rights Reserved. March 2016 Page 1 Of 2



SIGNATURE DESIGN BY ASHLEY® All Rights Reserved. March 2016 Page 2 Of 2

REPLACEMENT PART DESCRIPTION FORM
MODEL #: H633-27

1

2

3

4 8

7 

5

6

97 NEW


